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Exercise (1)

(1) Choose the correct answer:

1) The acute supplements ... ... ....... ... angle.
a) acute b) obtuse c) right d) reflex

2) The right angle complements angle whose measure is .............

a)0° b) 45° c) 90° d) 180°
Ifm(LA)=2m (£ B), Acomplements /B ,thenm (£ A)=....
a) 15° b) 30° c) 45° d) 60°

4) If the ratio between two supplementary angles is 4 : 5 , then the
measure of the greaterangleis ............. ...
a) 80° b) 100° c) 120° d) 150°

(2) In the figure opposite:
m (£ AMB) = 30°, m (£ BMC) = 110°

and m (.~ AMD) = 90°.
Find m (.~ CMD)

(3) In the figure opposite:
ABNCD = {M}, m (£ AMC) = 40° and

MD bisects .~ BME.
Find m (~ AME)
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Exercise (2)

(1) Complete:

1) The measure of the straight angle equals ... ... ....... ...
2) The angle whose measure is 36° complements an angle of measure
.. and supplements an angle of measure ..........
3) If the two outer sides of two adjacent angles are on the same
straight line, then the two anglesare ... ... ....... ...

4) The sum of the measure of the accumulative angles at a point is

5) The angle whose measure is greater than 180° but less than
360° is called ...ccovcnii e

(2) Choose the correct answer:
DIEFm (£ A)=90° thenm (reflex £ A)= ...............
a) 0° b) 90° c) 180° d) 270°

2) The measure of the straight angle equals ...... ....... ...
a) 90° b) 180° c) 270° d) 360°
3) The angle whose measure is 179°, itstypeis ... ... ....... ...
a) acute b) right c) obtuse d) straight

4) The sum of the measures of two adjacent angles formed by a

straight line andarayis ............. ...
a) 90° b) 180° c) 270° d) 360°

n\ Midterm — First term Revision
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3) In the figure opposite:

AB NnCD={M}, m(s CME)=90°
m (< AMC) = m (< EMB)

Find: m (~ AMC) , m (~ BMD), m (~ AMD)

(4) In the figure opposite:

MC bisects ~ BMD , m (2 BMD) = 82°,
m (< AMB) = 139°

Prove that:

MA , MC are on the same straight line.

a Midterm — First term Revision
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Exercise (3)

(1) Complete:

1) The acute angle is the angle whose measure is less than ....... ...
and more than ... .......... ...

2) The two complement angles whose sum of their measuresis ...........

3) The complements angles whose sum of their measuresis ... ... ...

4) The two adjacent angles formed by a straight line anda ray ... ...

5) If two straight lines intersect, then two vertically opposite angles

are ................

(2) Choose the correct answer:

1) The angle whose measure is 37° complements an angle

measure ................
a) 37° b) 5a% c) 63° d) 143°

2) The type of the angle whose measure equals 89°,is ... .......... ...
a) acute b) right c) obtuse d) reflex

AIfm(£A)+m(«LB)=180°thenZAand £ Bare ............. ...
a) adjacent b) complementary
C) supplementary d) equal in measure

4) The sum of the measures of the accumulative angles at a point
equals ................
a) 90° b) 180° c) 270° d) 360°

5) If the ratio between two adjacent and supplementary anglesis 1: 2,
then the measure of the smallerangleis ............. ...
a) 30° b) 60° c) 120° d) 150°

n\ Midterm — First term Revision
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3) In the figure opposite:
m (< AFB) = 120°

m (~ BFC) = 80° , and

m (~ AFD) = 90°

Find: m (~ CFD)

(4) In the figure opposite:

B
ACn BD = {M},
- - 140 i
ME bisect (- AMD) c A
Find: (£ AMD), m (£ AME) -

B Midterm — First term Revision
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Exercise (4)

(1) Complete:

1) The two triangles are congruent if two sides and .............. are
congruent with their corresponding in the other triangle.

2) The two right-angled triangles are congruentif ... ...........

3) Two triangles are congruent if two anglesand .............. are
congruent with their corresponding in the other triangle.

4) Two triangles are congruentifeach ...... ........ of one triangle are
congruent with their corresponding in the other triangle.

5) If the two triangles ABC and DEF are congruent, then: BC = ... ..
m(£E)=m (<L .......)

6)IFDE=XY,DF=XZandm (£ D)=m (£ X), thenAA(........, ........)
are congruent.

7) The two triangles XYZ and MNL are congruent, if YZ=8 cm,

m (£ Y) = 40° then in the othertriangle: ... .....=8cm m (L ........ ) = 40°

(2) Choose the correct answer:

1) Two triangles are congruentif ...... ... ... are congruent.
a) two corresponding sides.
b) two corresponding sides and the included angle.
c) their corresponding angles.
2)IFAB=DF=5cm, AC=DE=7cm, m(<£A)=m (s D)= 55°
then the two triangles ABC, DFE are congruentwith ......... ...
a) two sides and included angle b) three sides

c) two angles d) hypotenuse and a side .~

Midterm — First term Revision
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3) If the two triangles ABC, XYZ are congruent, then ... ... ... ...
a)AB=YZ b) BC = XZ
c) YX =CA d) ZY =CB

4) The following triangles are congruent except figure(...

Ax\/\h

5) In the figure opposite: A
IfAB=DE,BC=EC,thenm(ZA)=............
a) m (£ B) b) m (£ D) E
¢) m (~ DEC) d) m (£ ACD) e D

6) In the figure opposite: The necessary condition to make A ABC,

A DEF are congruent if:

a) AB = DE b) AC = DF
c) BC = EF D A
d)ym (< A)=m (~ D) /\ /\
E b - E C x - B
7) In the following figure: pair of congruent triangles is figure (... ... ... ..)
figure (1) figure (2) flgure (3) figure (4)

\ Midterm — First term Revision
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(3) In the figure below: Are the two triangles congruent?

(given reason),
Note: The similar signs denote the congruency of the elements

marked by them.

A B | " E &
W AAC
D C Y X F \/é/
D
figure (1) figure (2) figure (3)
B A 5
D E
\ M
E . Y
. &M
| A B S z L
figure (4) figure (5) figure (6)
L , X
X A
S,
AN
z ' Y v ZC mm B F 0 &
figure (7) figure (8) figure (9)

A

/\\/ NDZ

figure (10) figure (11) figure (12)
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Exercise (1)

(1) Choose:
1) obtuse 2) 0° 3) 60° 4) 100°

(2) 360 - (110 + 30 + 90) = 130°
(3) 180 -80=100°

Exercise (2)

(1) Complete:
1) 180° 2) 90 - 36 = 54° 180 - 36 = 144°
3) supplementary 4) 360°

9) reflex angle

(2) 1)270° 2) 180° 3) obtuse angle  4)180°
(3) m (< AMC) =180 - 90 = 90°

2 =45°

2

m (~ BMD) = m (~ AMC) = 45° . (V.0.A)

m (~ AMD) = 180 - 45 = 135°
(4) - MC bisect (- BMD)

. m (£ CMB) == =41°

' m (£ CMB) + m (~ BMA) = 41 + 139 = 180°

-. MC , MA are on the same straight line

n Midterm — First term Revision
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Exercise (3)

1) 90°, zero 2) 90° 3) equal ko

4) are supplementary 9) equal \
(2)

1) §3° 2) acute 3) supplementary

4) 360° 5) 60°

(3) m (~ CFD) =360 - (120 + 80 + 90) = 70°
(4) m(ZAMD)=m (2 BMC)=140° — (V.0.A)

.- ME bisect (~ AMD) = 1‘2‘—" = 70°

Exercise (4)

(1} 1) Included angle
2) The hypotenuse and a side of one triangle are congruent

to the corresponding parts of the other.
3) The side drawn between their vertices

4) sides 5)EF, B
6) AA DEF, XYZ 7)NL, m (£ n)
(2) 1)b 2)a 3)d 4) 2
5)b 6)c 7)4
(3)
1) yes (A.S.A) 2) yes ( S.5.8)
3) yes (S.A.S) 4) No
5) yes (A.S.A) 6) No
7) yes (R.H.S) 8) No
9) yes (S.A.S) 10) No
11) No 12) No

-. Midterm — First term Revision
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